Warm-up

Straight Line Motion Revisited

L. Given the position functiop s(f)=4¢" —1(¥+2, find the velocity and acceleration functions.
V()= Pt 10 2(t) =24t

2. Summarize the relationships between the position function, $(¢), the velocity function, W{),

and the acceleration function,

at).

v(ed= s'(¢) &)= V')

3. Imagine that a man starts walking 5 miles due north, then turns around and walks 3 miles due

south.
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Example 1: Suppose that a p:
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coordinate s =4 at time ¢ = 0, find its position function.
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Practice Problem 1: Suppos
W)=2t+1. Tfattimer=0¢

Straight Line Motion Revisited

¢ that a particle is moving along a straight line with velocity

he particle is at position s = 2. find its position function.
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Example 2: Suppose that a g
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a) Find the displacem

b) Fmd the distance t
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Practice Problem 2: A particle is moving so that its velocity, W¢)=8—2¢ over [0, 5]. Find th
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A |

dlsplacement and distance travelled by the particle.
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Straight Line Motion Revisited
Practice Problems

1. A particle 1s moving so that its velocity, v(t) =4 -1 over [0, 6] F1nd the displacement and
distance travelled by the partigle
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2. A particle is moving so that its velocity, v(r) t* —t—2 over [Oé Find the displacement 3
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3. Find the position, velocity; 8peed, and acceleration at time t = 1second of a particle if
v(t)=2-4; s =3 whent=0.

veloddd T accel pesition
V(t)=2at-o () = V&) <) SV@,}dt

00y = 2-4472 ] oTZ] g Yo Dt
ge,e.:df' V)|~ |2/ {2] sa:) % e e

- p2-4{otcC
_.:i = C
@) =tF{tt+3
50):; | —{+3=




